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MAEC-12 (M.A. Economics)

First Year, Examination-2014

MAEC-103

Indian Economy

( AR nefeTaeer )

Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.

AT : Ig UIA-UA WIS (60) 3iehi o1 & I < (03) Gk
% fawmfsm 21 forenfd= = == @i o fau o
forga fadll & 3rTEW € wvl &l T O R
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Section - A / @S-
(Long Answer Type Questions)/( /¥ IWU a1 Wy )

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners
are required to answer any two (02) questions

only. (2x15=30)

AT : WE T H AR (04) T I aer wy few M
Wik WoA o foru ue ofen Taeifia & orenfia
70 W Aol S U9 h ST A |

1. Explain the characteristics of Indian economy after
Independence.

ATl & 9 YR Sefegeaeen & fagivarett =i
Ui HIfST |

2. Examine the problem of unemployment in India.
What steps has government undertaken in recent

years to solve the problem of rural unemployment.

TRd o SRS T9ET ki fem= wifsw) arEon
SIS i THE H YR 3] TR G F1 Hed
JaIT U ¥ fafem |

3. Discuss briefly the recent changes in industrial
policy of government of India with reference to the

new economic liberalism.

IRd TR st efier fifa § g & ufedal =t
o= enfefer ST & <9 o gyy ¥ 9umEy
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What is meant by land reforms ? mention the
weaknesses of the land reforms in India and give
your suggestions in this respect.

7 GuR | A e @ 2 wRa 99 7 9t ger
F HIHA I IoolE HITST 3R TH G-y § M
o €ifsie |

Section - B / @g-&

(Short Answer Type Questions) ( &g 3T ATl UIT)

Note : Section 'B' contains eight (08) short-answer-type

o

questions of five (05) marks each. Learners are

required to answer any four (04) questions
only. (4x5=20)

wT @' A 1S (08) 1Y I o wew few w §,
T YUY & Torg uter st Fraifca § | foranfiay
I T Y Hael I Y9 & S ST § |

Importance of Agriculture in Indian Economy.

IRt stefegereen | ¥ &1 98 |

Marketing Policy of Government.

Y faquE & Ty ° 9Rd 9R & i |
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4. Explain the export promotion.
i Hagq T it |

5. Food Policy of the Government of India.
YRA HEhR i @1 i |

6. Industrial Finance managment in Eleventh Five year

plan.

Rgdl et e seifie faa ogewen |
7. Foreign Trade-Policy in India.

9 i foer =aam =it |

8. Problems of sugar Industry in India.

qA | <+ S St TS |

Section - C / @g-H

(Objective Type Questions) / ( TS I )

Note : Section 'C' contains ten (10) objective-type
questions of one (01) mark each. All the questions
of this section are compulsory. (10x1=10)

Az : @S T H @ (10) TS WA fqw oo,
TS U & foe uw ofw fruif@ € 1 3w ws
& qut wye o1 &
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1.

2.

3.

Indian Economy is :

(@) Capitalist Economnry
(b) Socialist Economy
(C) Mixed Economy

(d) Co-operative Economy

(31) YSitemel srefegaen
(9) GHISEmE] Sefegeree
(9) fhfya stefeereen
(%) Wehl efeaeen

Disguised Unemployment in Indian economy exists in:

(a) Rural Sector (b) Urban Sector

(¢) LT Sector (d) ForeignTrade Sector
AT ST H To5 AU covvennrvenerenenene. SE]
7 2

(a7) Trefor & (@) T &

(9) g Ueifient &9 (%) oyl =R &

The measurement of National Income 1s done for a

period of :
(@) Five years (b) Three years
(¢) Two years (d) One year
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T & ) Al fRa sty & faw @t St R
(31) U= auf & fag () o9 oot & fag

(|) < =W & fag (3) & aw & fag
4.  Which one of the following is the Kharif Crop ?

(a) Paddy (b) Wheat
(c) Lentil (d) Moong
frefeea &+ €@ Ti% & wEa § 2
(31) °H () T
(9) TR (2) 97

5.  Which one of the following is cottage Industry ?
(a) Steel (b) Pottery

(c) Armament Industry (d) Sugar Industry
frefafed o =i IR @ € 2
(3) w4 () fogdl & =dq
(W) *mgy 3um (%) =f i

6. The main objective of Economic planning is :

(@) Economic Growth (b) Self Reliane
(c) Full Employment (d) All the Above

aTfefer oM 1 g9 3 R
(31) smfde wgqfg () ST
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(§) 9of TSR (2) IWad gt
7. Fiancial year 2004-2005 is included in :

(@) Seventh Plan (b) Eight Plan

(¢) Ninth Plan (d) Tenth Plan

fasta = 2004-2005 fm FeFm & wnfre @

(31) wrel A (9) 3Set A

(|) el =S (3) <Rl AH
8.  Who is the father of Indian Economic Planning.

(@) J.L.Nehru

(b) J.R.D.tata
(¢) Sir. M. vishwashraiya

d) M. N. Roy
TR FaSH &1 SH® e A9 Sar @ |

() AR A 8%

(d) . W Bl M
(9) T uh fagawa
() @ @1

9. Who is the chairman of Planning commission of India?
(@) Finance Minister
(b) Prime Minister

(¢) Governor of Reserve Bank

80/3/700 7 PTO



(d) Home Minister
IR H IS SN R S B ©

(31) fommt
(&) wHEEs
(@) ford S @1 TR
(%) e
10. Urban Poverty line in India is related to :
(@) 2100 calorie (b) 2200 calorie
(c) 2300 calorie (d) 2400 calorie
A | wed e Yo fees gefea €

(31) 2100 el (§) 2200 Hard
(9) 2300 sHhard (T) 2400 el
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